In Mg?*. 14 electrons c\ﬁ
. °. Br . 34 electrons
‘ B 28 clectrons

|

P15 electrons




i
]

il bl
.l""-“_'““' b
.tl"."\ '\".T'“,',‘:g ithe |
TN we

T T | P F,
. ‘l"‘,ll""—‘»’ \v

Vo \ .
U= Ul “ At

"

-";3;142}' 3
ujw

d! &'“\f : ;‘I‘ i

|
. u'.'.




8- 4
> : : . - Y _r__u_:'_g*_-.m-.l §t U |
\ T ~— B -

— (
14 “;A\ N -
o . > ~
’ll "

B

<l - ~ ity

| —— e

Tron has a density of 7.86 g/cm’. The volume occupied by 55.85 g of iron is

9 0.141 e’
9 711 em?
Y 430 em?

o P




 GQulman No. 2
- Which of the following corr matches the iorwith the total number of electroffs in the ion?

)
Mg?*, 14 electrons
Br . 34 electrons
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Question No. 17

Fhe density of glycerin s 126 f/ml Calculate the mass in grams of 800 O mi Qlyearnn

;} & 1.008 Ky
W 1010
100 g
& 1008 g



Question No. 17

Fhe density of glycorin is 1. 26 f/ml Calculate the mass in grams of 800 O mi Qlyearin

| @ 1.000 K
W 1010
100 g
& 1008 g



Question No. 17

Fhe density of glycorin is 1. 26 f/ml Calculate the mass in grams of 800 O mi Qlyearin

| @ 1.000 K
W 1010
100 g
& 1008 g






Question No. 1

Which one of the following does NOT occur in @ chemical reaction?

' Atoms are changed into other atoms.
- Matter is rearranged.
Atoms react with other atoms.
Matter is conserved.
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Which one of the following does NOT occur in @ chemical reaction?

' Atoms are changed into other atoms.
- Matter is rearranged.
Atoms react with other atoms.
Matter is conserved.
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i ' The elements cesium, potassium, and lithium

© are isotopes of each other

' © have the same number of neutrons
@ are in the same period of elements
© are of the same family
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i ' The elements cesium, potassium, and lithium

© are isotopes of each other

' © have the same number of neutrons
@ are in the same period of elements
© are of the same family
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Question No. 7

Deposition is the process in which changes into
f
O agas, a solid
O a solid, a gas

O a gas, a liquid
O a liquid, a solid



[Quesﬁonﬂo.a

/ One element that has 4 valence electrons is :

® Jithium
© nitrogen
© carbon
O sulfur



hat does "X reépresent in the fol]owing symbol?
’ 80
| X
35

O iron
O scandium

& chlorine
© bromine




tal questions in exam: 25 | Answered: 1.
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Question No. 5

Which of the following items is a Mmixture?

© table salt
O sulfur

© baking soda
© cereal and milk



| Total &—ués‘ti—éhs_ in exam: i_ﬁ | Answered: 1

Question No. 11

Which of the following IS 4 compound?

' mercury (Hg) in a thermometer
' aluminum (Al) in a can

salt (NaCl) in a shaker

pure gold (Au) in ring






Question No. 4

[' In which of the following is the metric unit paired with its correct abbreviation?

rr

© microgram / mg
O centimeter / km
< milliliter / mL
© kilogram / cg
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Question No. 2

Atoms of the same element with;difrerent mass numbers are called

|

© ions
- © chemical families
© neutrons

 isotopes







Question No. 14

— sy,

| Which one of the following does NOT occur In a chemical reaction?

© Matter is rearranged

O Atoms are changed into othe

raloms
O Matter is conserved

9 Atoms react with other atoms



[[Yotal questions in exam 28 | Answerea 1

/ Question No. 10

A Chemical change
_r
]

“occurs when methane gas s Named

occurs when waler Is vaporized
“occurs when PAPEr I8 shredded (cur)

“occurs when sugar s dissoived in wiley




P

| @%ﬁsﬁmshemm: 25 | Answered: 1

Question No. 15

Semiconductors are located in the periodic table on (or in) the

O left side.
© line dividing metals and nonmetals.

' right side.
O first period.



Question No. 18

e —

What is the charge on the ion form

ed by aluminum?



Question No. 20

The number of protons in the nucleus of an atom

l

O s called the atomic number

O s the same for all isotopes of an element
© identifies the atom as a particular element
O Al the answers are correct
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Total questions in exam' 25 | Answered: 8

Question No. 12

Which statement aboul an atom is FALSE?

The nucieus is at the center of an atom
'he nucleus accounts for a small portion of the mass of an atom
I'he space occupied by the electrons is almost empty

I'he volume occupied by electrons is referred to as an electron cloud
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Total questions in exam' 25 | Answered: 8

Question No. 12

Which statement aboul an atom is FALSE?

The nucieus is at the center of an atom
'he nucleus accounts for a small portion of the mass of an atom
I'he space occupied by the electrons is almost empty

I'he volume occupied by electrons is referred to as an electron cloud
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| Which of the following elements4s a liquid at room temperature?.

Xt :
| B eSS e ‘\. \‘\,/
/O helium
O sodium

‘ chiorine

O mercury

l P
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' Question No. 4 ‘ User:mMHag?

!

| Bromine IS the only nonmetal that is a liquid at room temperature. Consider the 1solope Br-81, Select the combination which lists the correct atomic | A o

!

- humber, neutron number, and mass number, respectively. Number of qu

-
1 © 35:81,46 |11 20 |
@ 81 46 35 |

O 35 46. 81
O 46. 81 35 . n l
8 9

15116 |

22 || 23
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| Bromine IS the only nonmetal that is a liquid at room temperature. Consider the 1solope Br-81, Select the combination which lists the correct atomic | A o

!

- humber, neutron number, and mass number, respectively. Number of qu

-
1 © 35:81,46 |11 20 |
@ 81 46 35 |

O 35 46. 81
O 46. 81 35 . n l
8 9

15116 |

22 || 23
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© vegetable salad
O water
Sand in water
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Total questions in exam 25 | Answered 8

Question No. 11




1 (name Symboy, Combinatyye, -

9 can . Ky

m.u;m".mm My

4 m.mq.un-'.c- Mn

.
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Question No. 10

According 1o Hund's Rule e

© electrons pair first before filling other orbitals with same energy
' no two electrons in the sdme atom can have the same four quantum numbers
W electrons fill orbitals of Ihe same energy singly and pair up only after the orbitals are all half filed

W electrons found in the same orbital must have the same Spin
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Question No. 10

According 1o Hund's Rule e

© electrons pair first before filling other orbitals with same energy
' no two electrons in the sdme atom can have the same four quantum numbers
W electrons fill orbitals of Ihe same energy singly and pair up only after the orbitals are all half filed

W electrons found in the same orbital must have the same Spin
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Consider the atoms of Co-59 and Co-60, both of these atoms have the same _ _ 2

@ number of protons
@ atomic mass number
' number of neutrons
< non of these is true

A




Que. o, 12 e NN o

b

Consider the atoms of Co-59 and Co-60, both of these atoms have the same _ _ 2

@ number of protons
@ atomic mass number
' number of neutrons
< non of these is true




SsUuCa20VI NV .

What is the atomic symbol for manganese?

Mo

Md

Mn
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Question NO. 6

Condensation refers 10 which conversion?

gas -> liquid
solid -> gas

liquid -> gas
solid -> liquid

5 U
v . Arede| i i Lart LRI “
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Which of the following is an example of chemical property? "“‘?"-'-’T -.

- © flammability
- © viscosity
© density

@ color
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Which of the following is an example of chemical property? "“‘?"-'-’T -.

- © flammability
- © viscosity
© density

@ color




Question No. 2

s o —————

Which of the following gives the correct numbers of protons, neutrons, and electrons ina

118

neutral atom of 50 Sn?

() 50 protons, 68 neutrons. 50 electrons
) 118 protons, 50 neutrons, 118 electrons
+ 68 protons, 68 neutrons, 50 electrons

118 protons, 118 neutrons, 50 electrons
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s o —————

Which of the following gives the correct numbers of protons, neutrons, and electrons ina

118

neutral atom of 50 Sn?

() 50 protons, 68 neutrons. 50 electrons
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+ 68 protons, 68 neutrons, 50 electrons

118 protons, 118 neutrons, 50 electrons













Total questions in exam: 25 | Answered: 1 ﬂ

Question No. 1

Which one of the following does NOT occur in a chemical reaction?

' Atoms are changed into other atoms.
Matter is rearranged.
Atoms react with other atoms.

Matter is conserved




/ Question No. 3

1
l

| Which of the following is an eéxample of chemical property?

< flammability
vISCOSIty
density

color




Question No. 2

Which of the following gives the correct numbers of protons, neutrons, and electronsina

118

neutral atom of 50 Sn?

20 protons, 68 neutrons, 50 electrons
118 protons, 50 neutrons, 118 electrons

68 protons, 68 neutrons, 50 electrons

118 protons, 118 neutrons, 50 electrons




/ Question No. 3

1
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| Which of the following is an eéxample of chemical property?

< flammability
vISCOSIty
density

color
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© vegetable salad
O water
Sand in water
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/ Question No_ 7 Lz T |
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Which of the folk)wmg statem

ents is NCorrect?

“ Evaporation Of water from a fish tank is evidence

Of a physical Change

‘steam on a MIrror Is an EXample of a physical change

property
t0 a white powder is an e

The fact that sulfur powder s yellow is a physical

T'he burning of a plece of charcoal Xampie of a physical change






Total questions in exam: 25 | Answered: 1 ﬂ

Question No. 1

Which one of the following does NOT occur in a chemical reaction?

' Atoms are changed into other atoms.
Matter is rearranged.
Atoms react with other atoms.

Matter is conserved
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 GQulman No. 2
Which of the following corr matches the lomwith the total number of electrofls in the ion?

Mg, 14 electrons (@

Br . 34 electrons
9,
/n~", 28 electrons
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' Question No. 4 ‘ User:mMHag?

!

| Bromine IS the only nonmetal that is a liquid at room temperature. Consider the 1solope Br-81, Select the combination which lists the correct atomic | A o

!

- humber, neutron number, and mass number, respectively. Number of qu

-
1 © 35:81,46 |11 20 |
@ 81 46 35 |

O 35 46. 81
O 46. 81 35 . n l
8 9

15116 |
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Question No. 4 User MH39

Sromne 1S the only nonmetal that 1s a iquid at room temperature, Consider the solope Br-81, Select the combination which lists the correct atomk Number orm

number, neutron number, and mass number, respectivel Number of gt

u An"md

20 | Not Visted

9
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Sromne 1S the only nonmetal that 1s a iquid at room temperature, Consider the solope Br-81, Select the combination which lists the correct atomk Number orm

number, neutron number, and mass number, respectivel Number of gt
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Qus.. o, 12

Consider the atoms of Co-59 and Co-60, both of these atoms have the same __

number of protons
atoMmic Mass numoet
numbder of neutrons

™ , e - e -
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Consider the atoms of Co-59 and Co-60, both of these atoms have the same __
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atoMmic Mass numoet
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" Question No. 10

According to Hund's Rule e

W electrons pair first before filling other orbitals with same energy

“ no two electrons in the sdme atom can have the same four quantum numbers

W electrons il orbitails of the same e

‘\<0

NEIgy singly and pair up only after the orbitals are all haif fiked

electrons found in the same orbial must have the same Spin
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Chemistry Quiz1 S

Total questions in exam' 25 | Answered: 8

Question No. 12

which statement about an atom s FAL SFE?

I he nucleus 1s at the center of an atom
I'he nucleus accounts for a small portion of the mass of an atom
I he space occupied by the electrons is almost! empty

| he volume occupied by electrons 1s referred to as an elects

"
- AW,
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Question No. 12

wWhich statement about an atom s FAL SE?

The nucleus s at the center of an atom

I'he nucieus accounts for a small portion of the mass of an atom

The space occupied by the electrons is almost empty

I'he volume occupled by electrons is referred to as an electron cloud
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| [ Total questions in oxam 26 | Answored 1
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" Question No, 16

A chemical change

“occurs when methane

‘J

Jas s Named
QECurs when waler Is VapOrized

“ocours when PAaper Is shredded (¢ ut)

OCCuUrs when

sUQAr s dissolved In water




